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I 'amwn:y™'s inference from v. 1
a  Note: nw77 presented D212 - on day that »”ary was invested as head of the 71 (.n> m>12)
b Inference: we infer that a 22» 123 can make a >w’9w — even if the final object is 710
i Explanation: the word 8nv> implies that it generates nRMV one step further; the p7w (kMmN aR) that fell into the
airspace of a vIn *93 made the ©In 53 into a NRMVY NWRY; any food in the ©IN Y55 is now a »W and, based on the
read of RpY as 0Nk XY, has the power to defile the next thing it touches
c YWy "1's reaction: 1”2 thought that a later 772 would revoke the idea of a 19112 *»%w due to a lack of textual support
—and her " found textual support!
i Challenge: if they couldn't find textual support, why did they deem it Xnv?
1 Answer: they used v'p:
(a) If:a oy %av, who is allowed to eat 190, defiles NN
(b) Then: a 1w 133, which has a status of nrmv in the context of 110, certainly defiles nnyn
(c) Block: oy 5120 is an NRMVN IR (e.g. NN RNV or YN¥N a1 etc.)
(d) Defense: could be a w7 DV %120
(e) Block: even a p7wT Y 920 is the type that could be an nkmVN 2R, as opposed to food that never could
(f) Defense: wn *93, which can never be nkmvn ar, but does defile nn1n
(g) Provisional conclusion: we have a common denominator — 12112 50191 P5IN2 9N —17p to W 723
(i) Note: later generation (anticipated by 1”277) challenge — all of common denominators have a 1nn 7%
1. and: 1”271 wasn't concerned with 71nn 7% as a block
d  Tangential ruling: "ov "1 infers a wMpY >wHw from text (v.2) and wMpY »» a7 via1p
i Text:v.2- even if the meat touched a nv, it is in a status of YaR» RY (ARMIV PTN)
ii 177 from o193 701NN (e. g. at after 7 days, before bringing n*w71p) who is 1M N1 9mn and DwTpa MoOR
1 then: a w9w, which is nmIna oy, certainly generates a wipa »»’a
iii ~ Challenge (72111 73): [assuming that o1 "1 follows 1129, below] — a ¥ %120 generate %109, both for wTp and MmN
1 Explanation: there is a 3-way dispute about the "power" of a oy »2av (for n'w1p)
(a) Swv Nax: heis a NWRY, generating 2 stages of NkMY and a third of %108
(b) 7241’1 he generates 2 stage of nkmv and a second of 9108
(c) opom he is only Y09 - both for nnn as well as for »wTp
2 reason for assumption (that »oy *7 follows 1237): if he held like 538w Rar or n™, he could've used oy »1v for v/p
(a) objection: perhaps reason he didn't use Dy %12V was in anticipation of the objection that 120 is nkmvn ar
(b) rejection: he used m 1193 70NN — also NRMOVA IR
e 17'slist of o’Rin who hold that p%mna "% nw Y PR (against Y™ of our niwn)
i n" —ruled that anyone who requires 132770 o'n nXa (regarded as a 21v) is not banned from p%n
ii ov "1 -as we said (otherwise, he would extend his ruling to a fifth stage for vmp)
iii ywI "1 - rules that if one eats a food that is a NWR1 or 21w, he becomes a 1w - but only if he eats 51 that were
made nMIN NIV HY
iv. (»nw 12) MYHR "1 —states that a PRI can only generate n&Mv 3 more stages for wnp, 2 for nman and 1 for pon
v (ONpIMN 1) MPHYR M — contra 13271 — nYN may be taken from NNV to include XNV by conjoining the dough
1 onom: prohibit
2 N":place less than a n¥23 of the 1w dough between them to join them
(a) alternate version: a full n¥»23 may be placed there
(b) explanation of dispute: all agree that the case is where the dough is a nWR1 and the non-separated dough
is not yet considered non (i.e. it's still P9n)
(i) side 1: whether nv =2 »9%w for PHIN
(ii) rejection: all agree that it doesn't; rather, dispute is whether this dough is considered as n%n
(iii) alternatively: all agree that it is not like n%n, dispute is whether one is allowed to create nxmv in R
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